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Warm Up

Albert and Belle are scientists testing weather balloons. They are both
holding the balloon by a rope, getting ready to launch the balloon.
Albert's rope holding the balloon is making a 36° angle with the ground
and is 7.8 metres long and Belle's rope is 5.9 metres long. Draw a
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Sine Law and the

Ambiguous Case

Lesson objectives

- | know how to determine when the ambiguous case occurs
- | know how to determine both solutions to the ambiguous case
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Recap Sine and Cosine Law

Given Info: To Be Found: |Law Required:
1. Two angles and any side (AAS) side sine law

2. Two sides and a contained angle (SAS) side cosine law

3. Three sides (SSS) angle cosine law
4.2 sides and an angle opposite one of them (SSA)|angle sine law

Draw a line to complete this shape and make
it a triangle.
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Ambiguous Case Options:

Given anale A < 90 degrees (acute)
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Ambiguous Case Options:

Given anale A <90 degrees (acute)
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Ambiguous Case Options:

Given angle A > 90 dedgrees (obtuse)
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Deltermhlne :}hf nu:nber alaf solutions, then find the solutions and
solve the obtuse triangle 1. Draw the picture (rememmber side-side-angle)
Angle A = 34°, a=8.2cm, b = 12.2CM 2 Determine which case you have
3. Find the angle or angle(s) possible
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Look at the situation with Albert and Belle from the warm up. Determine
the angle of Belle's rope to the ground. @&Uoo«r\
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A light in a park can illuminate effectively up to a distance of 100m. Apoint
on a bike path is 150m from the light. The sight line to the light makes an
angle of 23° with the bike path. What length of the bike path, to the nearest
metre, is effectively illuminated?
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